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Ifo = ?, find the exact value of each expression below.

NORMAL FLOAT AUTO REAL RADIAM CL n

{a::l CGE:B :|:| (cos(5n,6))2

i)
. cos( -Sn/6)
(b) cos(-@)=[] ™" """ - 8660254038
J(3)/2
(€)  cos20=[] | . 8660254038
cos(Z2%5n-6)



cos(5n/6)

5 E,z
Ife = ? find the exact value of each expressijile... . .....=:8660254038

A
G
(b) cos(—8)= ’L/f'
SN fos (-5} = -

.%7...-“(} (o (IQLT>

a @
/'th ' "’-(7- - J—G K%
AH - f}h, R

,

..7»8660254038 | v

v

|
2



Trigonometric functions and special angles: Problem type 3

Find the exact values below. If applicable, tap on "Undefined.”
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The graph, domain, and range of a |oagert

Graph the function g(x} =2+ logg(x—3} and give its dmnd hnge using interval

notation. Xz L‘- \O“)j,\







The graph, domain, and range of a logarithmic function

. : - — D .
Graph the function glxQ =2+ lﬂg:_ x—3)an

give its domain and range ugthg interval
notation. A t
PARENT: log base 2 i
. i
Transformations: i

Parenthesis 1st: 3 to ( i
the right (move VA 3 to l
the right)

Addition 2nd: 2 up

calculator:

y1=2+log(x-3)/log(2)
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Arc length and central angle measure

A circle has a radius of 7 ft. Find the degree measure of the central angle 8 that intercepts
an arc of length 9 ft.

Do not round any intermediate computations, and round your answer to the nearest tenth.
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Arc length and central angle measure

A circle has a radius of 7 ft. Find the degree measure of the central angle 6 that intercepts
an arc of length 9 ft.

Do not round any intermediate computations, and round your answer to the nearest tenth.
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Using a calculator to approximate cosecant, secant, and cotangent values

Use the ALEKS calculator to evaluate each expression.
Round your answers to the nearest hundredth.
For each expression, make sure you are in the correct calculator mode.
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Using a calculator to approximate cosecant, secant, and cotangent values

Use the ALEKS calculator to evaluate each expression.
Round your answers to the nearest hundredth.
For each expression, make sure you are in the correct calculator mode.

cot(—%)=|:|

cse(—180°) = |:|

sec315° =[]
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sin(3x)

"smushed"
busier

Y=x" Yclz) = ¥

U -al.w‘” TQT

smushed stretche
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N =
sin(.25x)
i period 2pi/B
2pi/.25= 8 pi
4 times bigger than
regular sine

"Lazier"



¢ 7 log(x) has VA at
——-—\\ x=0
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time height

0 3

7.5 223

15 443

22.5 223

30 3 \/\ ‘§<
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a=22a v
b=.2094395102
c=-1.570796327
d=223 v

[ &
gy=a¥sin(bx+cl+d )
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|deas for individual Project (9 data points)

Interesting
Relevant

Informative






According to the sine regression, utf:[’@

Apple stock will cost ﬂZZ)August 2017.

Conner

—

Hope says in 2035 stock will be worth
$74.65

Maddie says the price of apple
stock is @in NEVER




According to the sine regression with
period of 7

.6drinks gets 5.6 encounters
according to Sine regression with period

according to the sine regression with a
period of 7, a person who does not
drink can expect 4 encounters












Matching graphs and equations for secant, cosecant, tangent, and cotangent
functions

Three graphs are given below.
For each, choose its equation_fL

Equation: Equation: Equation:

(choose one) v (choose one) v (choose one) v
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Matching graphs am&aqua[mns “nr sec nt, secant tangent and cntangent
functions

Three graphs @en&elowl
For eachi choose its equation f the followm
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